
ASSX CHAPTER-5 oMPLEX NUMBERSQuUAPRATIG EQUATIONSCLASSX 
EXERYISE5:3 

Solve each of the following equalion 
No 

+3 o 

Camparin1 with axb+C«o a1 b o, C3 

Sol 

D= b4a 
)4x1x3 -0-12-12<0 

. Rool o Ean will be Cempkex 
Ustng uadyatíc Formula 

-bt644t 
2 

ONo 2«xtl=o 
Cqven ean is 2xxtl-o So 

npanng mith atbatt =o 

2, b 1, Cl 

Discrimmant D b4ac = ( 4x2x1 = 1-8--7 k0 

-btb4 -17 -17A 
22 

axe 

ONe 3 
GNen en s 3t1 0 

mpanin INth ax+bxtC~o; Ib3 C1 
Sol 

b-4ac = (3) 4XIx3 9-36 = - 27 

-bt64at -327 -3t27 
2 

- 3 3J3 -3t33 -3-KJ C 



QNo 

Sol. D 4(-1)) -8-7 
Kools aYe -147F -17 

al-) 

2 2. ()) 
ONo5 x3+5=0 

Here : b4at 4XIXS 9-207 -||. 

kout one 3L -3tL 
2X1 

-3tJmC -3- 
ONo 6 

Here D b-4ac 1) 4x1X2 = 1-8- 7 
Kuo of airen equalion ave 

1t 7 
2 

J7C 
2. 

0No7 

4ose D b44c: t-4xE RJE - -87 

Roo of ven ealions ave 
V 

-17 -147 
2J2 

-It7C 



No 8 J3 +33 =o 
Hert D b4at (-E)-4xj3 13J3 = 2-36 -34o 

Reo of Given 4adratic egualrn ave 

-(-)+ -3 J34 
23 

-J36 
J3 

So iien 9adratie eqn is *+X+co Given 

OY 

D JE) 4 (E)C) - 2-4 D4J-2) 

Koo of ven 9kad ralië equalion are 

JAT-2)-) -+2(A3-) 

2 

-14JRB- -1-3st 
2 2 



No lo 

Sol Cven en i *+ 
2 0Y 

ere D-(+1 4x2 = 1-8 = -7 Ko 

Complax i b re 9pad) ra lic equaian art 

-7 -It7) 

- 7 

-17 

-1+7 
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